EJINAIOX—5

AIR MICROMETER

G-003-d

ASLE (GRER) ZRvro0%x—% T O XY (PAT.)
COLUMN MODEL(FLOW TYPE)AIR MICROMETER f|0Wmec®(PAT.)

ZERCTBICIE

How to fabricate multiple columns

ST ERBAEEITOSE . EHROEKRI =y (No.3100) EEH
D7—MZEWTOyIEINR AR THERXR7OXY 7 B TEET,
FOEEEF7OXVIIERET—NAERBAEANYNELVPYIA
NIA=YFTY,

When performing multiple places measurements, flowmec can be
easily fabricated to multiple columns by adding to basic units of
No.3100 required and right & left feet. The above picture shows a
three columns flowmec with a measuring head and master for
taper degree measurement.

% T
specification ‘E ﬁ m

BiT a2 88
Bk numberof | width deepth hiegth weigth
model columns mm mm mm kg
No.3100 | — 34 2.2
No.3101 | 2 & | 404 3.8
single column
No3102 | 2B | 3 6.0
No.3103 | 38R | 172 | 102 | 475 8.2
three columns.
485t
No3104 | 4EX | 906 104
No.3105 | 5 | 240 126

five columns

No. H : :

CHREICEU TSRS (NUBEH) EFRE2THRE TV,

%] No.3103 (3:&#z() X50001%

Indication of number of columns and magnitication is required
when placing an order.

Ex)No0.3103(there columns)X5000

TOXy 7 IEM P ETEEEFTNIEREOE(LET—/NEROTO
—MIEHTHKRETRT SEELEBAERTT .

BEY AT LIETOXAYIEFERMENYR ROV EDSEHRENT
‘l\ij-o

Flowmec is a precision relative measuring instrument that meas-
ures changes in airflow running through a slight clearance be-
tween workpiece and measuring head as read by the expansion
of a float in taper tude. The measuring system consists of flow-
mec main body, measuning head and masters.

1 7O0-POREHICEBNATOET,, (A REED2%LURNTTY)

2 FAUNHBIIED-HT7O—NMIIGEEDHBIELHIEL A,

3 ERFAE ODFALEOMBEDOEASMHMIL TV BHRIMEMICE
hTWEd,

4 F—INEOBRUHULIBEBTT,

5 F—/NERREREERLGHEETT, (BEERTEOHAIEITO
—h EERERIEZEY,)

6 7—MEICEARIZYIEBMTAIEICEY A NNIMISERICHE
BTEXT,

1 Superior stability. (less than 2% active reading range)

2 Since the upper damper is made of resin, it won't scratch the
float.

3 The maguification setting and zero adjusting knobs and located
separately, making operation easy.

4 Taper tubes are easy to remove.

5 Magnification standards of all taper tubes are the same.(in ca-
ses of changing magnification, change the float and scale
board)

6 Can be fabricated to compact multiple columns by adding basic
unit between feet.

28 DAI-ICHI SOKUHAN WORKS CO.



EJ[NAIOX—F

AIR MICROMETER G-004-e
E E % 3
standard magnifli:::ation timztl-,\s x 1 0000 X 5 0 0 0 X 2 0 0 0 X 1 0 0 0
# &~ # H m
w measuring range H 2 0 4 0 1 0 0 2 0 0
—— FHiETRE pm
" /’_,, 2 A effective measuring range 15 30 70 150
10 I E &
pum
i El scale volume 0.5 1 2 5
3 & mm
i scale width 5 5 4 5
s—/E—® 70 - & & : x| ®(D)
\ F float color blue black black green*
iE, # = pM | ARIEREEND2% K 4
‘ ; g max.measuring error less than 2% of effective measuring range
1A “ B &5 B M T 1,550 (IS B7535K L5 E AT TOE)
7 & ; response time sec. | within 1.5 (value according to conditions specified in JIS B7535)
1|, o R R & & 2{8
IE S limitation indicator 2
‘ 3 BEAYFERD M10X0.75 BRaU
E 8 measuringnt head connecting screw M10x0.75 male
| B ERE KPa | 245~785
‘ E air pressure supplied
! Exa=yhik MM | 34 (w) X477 () X192 (D)
8 J 3' 4 basic unit size _
11 B K § % MM | 04 (W) X479 (H) X192 (D)
18— single column unit size
> 17 EFI1-vhEE kg | 2.2
basic unit weight
5 BEXAXGEE kg | 3.8
3 _é’ 0 single column unit weight
! (GE) BAERERA000F L HRIE LS\ EARELNET,
16 ,@, Note: The upper damper is exclusively for the specifications of the standard x 1000 magnification.

©
S

ASLTL—L
fERRABEOEH
EORAROEH
BEREERL

F—INE

BEEIR

70—k

PR IR

TEN

10. &%

1. 7—=NEY—IV (L-TF)
12.88H/\—

13. 57—/ NEHE Z
14.L¥1L—%

15. R=IVINIVT (542085 yF Va1 M)
16. BIFEA v NA#F (M10X0.75)
17.7—h (H)

18.7—h (%)

@ N oA N

©

1.column flame
2. magnification setting knob
3.zero adjustment knob
4.screw for secure the scale plate
5.taper(glass)tube
6.scale board
7.float
8.limitation indicator
9.lower damper
10.upper damper
11.tapered tube seal (upper and lower)
12.head cover
13.tapered tube holder
14.regulator
15.ball valve ($8mm with touch joint)
16.measuring head joint (M10x0.75)
17.foot (right)
18.foot (left)

HMARECBARICEMDE R I HLORRIEAMICTHAE TS,

Note: Please contact us if you would like to change the number of colums after purchasing this product.

@7 IVE—1 =y [ZAME/L—4,INEISEG8FYF a1 bEL
I ARGOBTDF=v T IV OUTRISHZ$8F Y FTaA > Mt]
@y FF1—T . RE2m [BYNFTNIVTET IV R =y MERH]

@filter unit (including a mist separator, OD¢8 touch joint or volute

nipple for inlet and OD$8 touch joint for outlet)

@touch tube, 2m length (for use in cut off valve and filter unit connection)

DAI-ICHI SOKUHAN WORKS CO.

29

=X O« - X - AiHd



